8.2. GIS processing. How would you have addressed problem 8.1 if you incorporated a process that merged the GIS databases that represented unrestricted areas? How would you have addressed problem 8.1 if you incorporated a process that combined all landscape features representing unrestricted areas into a single polygon? Provide a flow chart for each alternative process.

In the first case, the problem could have been addressed with the following nine steps.

1. Select the authorized trails from the trails GIS database.

2. Buffer the authorized trails.

3. Buffer the homes.

4. Buffer the owl nest location.

5. Develop a field within the streams GIS database and populate it with the appropriate buffer distances.

6. Buffer the streams using a variable width buffering process.

7. Select the research areas, rock pits, oak woodlands, and meadows from the stands GIS database and save them as their own GIS database.

8. Merge the databases created in steps 2, 3, 4, 6, and 7.

9. Erase the merged GIS database from step 8 from the stands GIS database.

In the latter case, The same steps could be used, however after step 8, all of the features could have been selected, and then combined into a single polygon.

The two flow charts are shown below. The first is for the former case, the second is for the latter case.
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